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Financial Analysis

(Chapter 3)


Goals
· Define Financial (Ratio) Analysis

· Compute different types of financial ratios

· Learn to interpret ratios.

· What is the unit of measurement?  

· What is meant by a high or low ratio?

· Discuss some problems with financial analysis.


Why Do We Care About This Topic?
· Useful Tools

· Internal Uses

· Performance evaluation

· Compare division results


· External Uses

· Short-term and long-term creditors 

· Equity analysts 


Groups of Financial Ratios

1.
Short-term solvency or Liquidity Ratios
· Ability to pay bills in the short-term

2.
Long-term Solvency
· Ability to meet long-term financial obligations



3.
Asset Management
· Intensity and efficiency of asset use

4.
Profitability
5.
Market Value
· Going beyond financial statements and using stock price data


1. Short-term Solvency or Liquidity Ratios

· Current Ratio: Indicates a firm's ability to meet its short-term obligations.
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At the end of fiscal year 1996, Hermetic Inc.’s current assets totaled $745 million; its current liabilities totaled $435 million. What was Hermetic Inc.'s current ratio in 1996?

· Net Working Capital and Current Ratio:

a.
If a firm’s current ratio is greater than one, then its NWC is

b.
If a firm’s current ratio is less than one, then its NWC is 

Interpreting Trends in a Firm’s Current Ratio
I.
Equal Decreases in Current Assets and Current Liabilities
Example:  Current Assets = 50;  Current Liabilities = 40
a.
What is the firm’s Current Ratio?

b.
Suppose the firm uses 10 in cash to decrease accounts payables by 10.  What is the firm’s new Current Ratio?

Example:  Current Assets = 40;  Current Liabilities = 50
a.
What is the firm’s Current Ratio?

b.
Suppose the firm uses 10 in cash to decrease accounts payables by 10.  What is the firm’s new Current Ratio?

Interpreting Trends in a Firm’s Current Ratio (Continued)
II.
Equal Increases in Current Assets and Current Liabilities
Example:  Current Assets = 50;  Current Liabilities = 40
a.
What is the firm’s Current Ratio?

b.
Suppose the firm increases inventories by 10 with short-term credit.  What is the firm’s new Current Ratio?

Example:  Current Assets = 40;  Current Liabilities = 50
a.
What is the firm’s Current Ratio?

b.
Suppose the firm increases inventories by 10 with short-term credit.  What is the firm’s new Current Ratio?

III.
Conclusion


· Changes in the trend of the current ratio are difficult to interpret.  Equal increases and decreases in current assets and liabilities have different effects on the current ratio depending on whether the current ratio is greater than or less than one.  

a.
In an economic expansion, a firm will often build its inventories to meet an increase in demand.  This increase is often financed with short-term credit.


1. Short-term Solvency or Liquidity Ratios - continued
· Quick Ratio (Acid Test Ratio): The current ratio includes current assets, such as inventories, that may not be able to be converted to cash in the very short-term.  The quick ratio is computed by including only current assets that can be converted quickly to cash.
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Hermetic Inc. inventories were $385 million at the end of 1996.  What was the quick ratio for Hermetic Inc. in 1996?


Another example: Smith Company.  What can we say about Smith's Short-term liquidity?

Fiscal

Year-end
Current Assets
 Inventories
Current Liabilities
Current Ratio
Quick

Ratio

1994
50
14
40



1995
80
30
50



1996
100
45
60



1997
153
75
85




2. Long-term solvency or financial leverage ratios
· Total Debt Ratio: The total debt ratio takes into account all debt of all maturities to all creditors.  It is computed by dividing total assets minus total equity by total assets.
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Hermetic's total assets and total equity were  $1845 million and $1185 million, respectively at the end of 1996.  What was Hermetic Inc’s total debt ratio in 1996?  What does it mean?

· Debt/Equity Ratio: The debt/equity ratio is the ratio of total debt to total equity.
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What was Hermetic's Debt/Equity ratio for 1996?

Exercise: If firm A has a debt-to-equity ratio of 0.6, what is its total debt ratio?

Exercise: If firm B has a total debt ratio of 0.8, what is its debt-to-equity ratio?

2. Long-term solvency or financial leverage ratios - continued
· Long-term debt ratio: This ratio excludes short-term debt.  The amount of short-term debt outstanding is often changing.  Also, accounts payable may be more a reflection of trade practices than debt management policy.  
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Hermetic's long-term debt at the end of 1996 was $225 million.  What was the firm's long-term debt ratio?  What does this number mean?

· Times Interest Earned or Interest Coverage Ratio: Measures the multiple of the current level of debt that a firm could support given its current level of earnings.


[image: image8.wmf]Expense

 

Interest

EBIT

 

=

 

Earned

 

Interest

 

Times


Hermetic's EBIT and interest expense were $200 million and $20 million at the end of 1996.  What was firm's interest coverage ratio in 1996?  

· Cash Coverage Ratio: Measures the multiple of the current level of debt that a firm could support given its current level of cash available.
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Hermetic's depreciation is $30.  What was firm's cash coverage ratio?

 
3. Asset Management
1.
Inventory Turnover
· Inventory Turnover: Measures how many times a firm sold off its entire inventory.
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Hermetic's cost of goods sold were $480 in 1996.  How many times did Hermetic sell off its inventory in 1996?

· Days Sales in Inventory: Measures how long it took a firm to sell its current inventory.
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What was Hermetic's Days Sales in Inventory at the end of 1996?


3. Asset Management - continued
2.
Receivables Turnovers
· Receivables Turnover: Measures how fast we collect on the sales of inventory.
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Hermetic's sales were $710 million in 1996.  Its Accounts Receivables totaled $310 million at the end of 1996.  How fast did Hermetic collect its receivables in 1996?

· Days Sales in Receivables: Measures how long it took a firm to collect its credit sales.
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What is Hermetic’s Days Sales in Receivables at the end of 1996?  

3. Asset Management - continued
3.
Asset Turnover Ratios
· NWC Turnover: Measures how much work we get out of our working capital.
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Hermetic's NWC was  $310 in 1996 and its net sales equaled $710. What was the firm’s NWC turnover ratio in 1996?  What does this number mean?

· Total Asset Turnover: Measure how much work we get out of our total asset.


[image: image15.wmf]Assets

 

Total

Sales

 

=

 

Turnover

 

Asset

 

Total


Hermetic’s total assets in 1996 equaled $1845.  What is the firm’s Total Asset Turnover Ratio?  What does this number mean?


4. Profitability
· Profit Margin: Measures how well a firm is managing its costs relative to its sales revenues.
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Hermetic's net income was $126.55 million for 1996.  What was Hermetic's profit margin in 1996?

· Return on Assets: Measures how hard a firm's assets are working.
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What was Hermetic's return on assets in 1996?

· Return on Equity: Measures how efficient equity is being employed to generate profit.
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What was Hermetic's return on equity in 1996?


5. Market Value Measures
· Can only be calculated directly for publicly traded companies.

· Price/Earnings (P/E) Ratio: Measures how much, investors are willing to pay per dollar of current earnings.
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· Market-to-Book Ratio: Measures the market value of the firm's investment relative to their historical costs; measure growth prospects.
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· Example:  Suppose Cross Companies has 45 million shares outstanding and the stock sells for $80 per share at the end of its fiscal year.  It's net income and total equity at this date were $675 million and $3,375 million, respectively.  What are its P/E and Market-to-Book ratios?

The Du Pont Identity

· Expression that partitions a firm’s return on equity (ROE) into three components
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· The Du Pont Identity tells us that a firm’s ROE depends on:

1.
Operating Efficiency, as measured by

2.
Asset Use Efficiency, as measured by

3.
Financial Leverage, as measured by

· The Return on Equity also can be written as a function of a firm’s ROA
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Using Financial Statement Analysis
· Choosing a Benchmark
Prior time periods

Comparable firms



Comparable industries



Comparable geographic regions

· Problems with Financial Statements Analysis

End-of-Period Numbers versus Averages


Very little underlying financial theory

Differences in accounting practices

Finding comparable firms

Differences in fiscal years

One-time events

Seasonal variations

Conglomerates
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